‘ MITSUBISHI S5 ROTHR (G000
A7 . ELECTRIC o v @
Changes for the Better

NERIER

Fouvver
\V4 (== B =]=



Innovative Power Devices
for a Sustainable Future

BENEZERIMHRAENEAN, AXUENERFENHSE, FERBRIHERE. XLHE
BEFAKXMAERERNDSFTEEFSERAE, BEEREMANME, HHEMER, KBRHNESS
NEREREHRE, ERKERTEMOHMRERES, TTLIRIEIERMIRIFZRACIFEH, MWL
HXHREARCHE— I RERF R EINFER, ZFHHORBBIGHRE, $REE. BapRE, Tz
BES TR AR BIF TR

L

Re

HARE/
REHNRE

T Ezpt

HSL%E

A§; *

iy .




@ rFRES )
SEI = iEF0 Tk iR i 230K ThaE N EE R E (L

7511200V %Y DIPIPM™”$0“1200V/NEUDIPIPM™

s WIGBT ‘B Ei5 1
<HR> _ Tj=25°,VD=15V,3E i
BN NETREREEMNBSD (Bootstrap Diode: B — k&)

. —IXE), Ic (A)
BANETHEE 30

RAACSTBT™ }is M6 RICBTIS ., 5AATRARFS™ R S
AR LA 1 096RFE™

25
- B FE 1 200VHIDIPIPM & R S /B 4

N RS/
B @A, MERY BINERET mN66%

1200V
Mini DIPIPM™

1200V Large DIPIPM™ Ver.6
X Carrier Stored Trench Gate Bipolar Transistor (& 717 = 48 A AR 14 B E )
1 AR AKEDIPIPMARS] (H4g5A~35A)
: PSS25SA2FT (25A/1200V) #1
RN T B4R AHEIDIPIPM PS22A76 (25A / 1200V) KyELER
%4: Dual-In-Line Package Intelligent Power Module

2.0 25
Veesat (V)

ST — R, TABRGERIT, IR LTSGR oIPIPI®
<tn> et o e
RABRESES S, RUBRMLSNETENE

-RANSRIBEE, RIFEEMEFRIRBEHNSMEIC (High Voltage IC),

BIRACPUR 2 FHMEAGES EREEH

B ERHERIABRSRIT, KU T BERNDECHRES T TEM

CEENERRCMENIE

AAENEERRIFERE, HACEIRRS, HanbFXMEEARR BT

<HFR>

-ABERRYF. BHBFEXERF. SRERPHSTBE
-RAZEIRBMMNIER, M TEOBKRIT
-BBSEAET KR RERRT AIPMER

LR AP S PR T TS RO TSRS (S IGBTLE

Insulated Gate Bipolar
Transistor Modules
<FR>
-BEERMRERFRMIESH

‘BRAEEOSME, SME (1700V) AR~ RER
'ﬁﬁﬁﬂﬁﬂﬁiﬁbﬁﬁ’]ﬁgéﬁiﬂﬁéﬁ

e ey S =i P =y — HVIGBT
NEENEREEAEHE, SER. SOSNBRTHGEEEIRTR | e ok
Transistor Modules

<#m>

- BESREBEEMRENNSHEME (10.2kVims: AC60Hz 1min) HEEFR
-ZHEEMAASIC (FribiEfR) ERNREBAERMER
BT AHVREERES, 25 7 BERITHNE

BTREHNRE. BehRENDARF, WY, SUEYE BHNE/ RENNAETANERR
<wR>

Power Modu!es for EV/IPHEV
DREELBHIIE, B8 7T DRRH T ESE

-@ﬁ?ﬁaﬁﬂ’ﬂb —?—ﬁéi'ﬂ% P ALRE BT A

5, RHTESUENE
B EHNINER IR “BREBELV (End-of-Life-Vehicle) 1§45 iy %

SEREMER B E T SE IR BT EE




DIPIPM™ =GRS

DIPIPM™7= g%k 600V / 500V

Vees (V) 600V 500V
Series Ver.6 Ver.5 For Industry Ver. 4 PFC MOSFET
Super mini type Super mini type Mini Type Super mini type
° Built-in BSD Built-in BSD Built-in BSD Mini Type Large Type Mini Type Mini Type Built-in BSD
3 PSMO03S93E5-A*
PSS05892F6-AG* PSS05551F6* *
5 PSS05S92E6-AG* PSS05551F6-C* PSMO5SI3ES-A
10 PSS10S92F6-AG* | PS219C3-AS PSS10S51F6*
PSS10S92E6-AG* | PS219C3-AST | PSS10S51F6-C*
15 PSS15892F6-AG* | PS219C4-AS PSS15851F6* PSA1764
PSS15S92E6-AG* | PS219C4-AST | PSS15851F6-C*
PSS20S51F6*
PSS20S92F6-AG* | PS219C5-AS *
20 * PSS20S51F6-C™ | PS21765 PS51787
PSS20S92E6-AG™ | PS219C5-AST PSS20S71F6*
25
PSS30S92F6-AG* *
30 PSS30S02E6-AGH PSS30S71F6* | PS21767/-V PS51789
35 PSS35592F6-AG*
PSS35392E6-AG*
50 PSS50S71F6* PS21A79
75 PS21A7A
IGBT/MOSFET  |Full-gate CSTBT | Full-gate CSTBT CSTBT CSTBT Full-gate CSTBT Trench SJ-MOSFET MOSFET
2 | HVIC x1 x1 x3 x3 x3 - x3 x1
<
O | LVIC x1 x1 x1 x1 x1 x1 x1 x1
BSD x3 x3 x3 x3 - - - x3
oc uv P-side/N-side | P-side/N-side | P-side/N-side | P-side/N-side | P-side/N-side N-side P-side/N-side | P-side/N-side
"3-% SC N-side N-side N-side N-side N-side w/sense - N-side N-side
[0}
‘éé oT N-side™ N-side <-T> - - - - - N-side
87 [ vor2 N-side™ N-side <except-T> N-side - N-side - - -
Active Input High (3/5V) High (3/5V) High (3/5V) High (3/5V) High (3/5V) High (3/5V) High (3/5V) High (3/5V)
Emitter pin of N-side Open Open Open Open Open - Open Open
§ | FaultOutput  |N-side (UV, SC, OT)|N-side (UV, SC, OT)| N-side (UV, SC) | N-side (UV, SC) | N-side (UV, SC) - N-side (UV, SC) |N-side (UV, SC, OT)
E Insulation voltage 1500Vrms"3 1500Vrms™ 2500Vrms 2500Vrms 2500Vrms 2500Vrms 2500Vrms 1500Vrms™
% Insulation structure | Insulation sheet | Insulation sheet Molding resin'?/ Insulation sheet | Insulation sheet | Insulation sheet | Insulation sheet | Insulation sheet
o Insulation sheet
O | RoHS Directive |  Compliant™ Compliant™ Compliant™ " Compliant™ Compliant™ Compliant™® Compliant™ Compliant™
Pin Type A: Long A: Long ﬁ:oCnOe":"g'hsj)‘:f of Zigzag - - - - A: Long
ok FER e HiEm (| PEFCR EREBEXAHR.
Built-in BSD Super mini type DIPIPM™4 57 F B3 B&
] V UFB PJ~
x [ < A
V VFB U
A
V WFB
ur || HvIC — v L
Ve )
IWP
JVP1 —
T W
F I
V NC _ +
3 /74
= UN
IVN [ A
NU
W N o
5V§ i
—
Foll Lvic NV
o1
IVOT
'% A
15Ve VN1 — NW
¢ X T IVNC ]
L] " [ loin
)
L Shunt
T resistor




DIPIPM™7= & 313 1200V

DIPIPM™& & 5%

PSO0000000-000

L=

Vees (V) 1200V
Series Ver.6 Ver.4
Ic(A) Mini Type Large Type Large Type
3
5 PSS05S72FT** | PSSO05SA2FT** PS22A72
10 PSS10S72FT** | PSS10SA2FT** PS22A73
15 PSS15SA2FT** PS22A74
25 PSS25SA2FT** PS22A76
30
35 PSS35SA2FT** PS22A78-E
50 PSS50SA2FT** PS22A79
75
IGBT/MOSFET CSTBT CSTBT CSTBT
o | HVIC x3 x3 x3
S | Lvic x1 x1 x1
BSD x3 x3 -
oc uv P-side/N-side | P-side/N-side P-side/N-side
83| 8C N-side N-side N-side
85| OT - - -
o 2 - - -
Vor N-side N-side N-side
Active Input High(5V) High(5V) High(5V)
Emitter pin of N-side Open Open Open
S | Fault Output N-side(UV,SC) | N-side(UV,SC) | N-side(UV,SC)
E Insulation voltage 2500Vrms 2500Vrms 2500Vrms
g Isuaonstucture | Insulation sheet | Insulation sheet | Insulation sheet
(%) —
RoHS Directive | Compliant*® Compliant*® Compliant*®
Pin Type - - -
*x: FFEF kTR | PHEECR|) EREMEXAHS.
[Term] ~ CSTBT™: Carrier Stored Trench-Gate Bipolar Transistor

BSD: Bootstrap Diode, HVIC: High Voltage IC, LVIC: Low Voltage IC,
UV: Supply Under Voltage protection,
SC: Short Circuit protection, OT: Over-Temperature protection,

RoHS: Restriction of hazardous substances in electrical and electronic equipment

[Notes] *1: PSSxxS92E6 has OT function, PSSxxS92F6 has VOT function

*2: Analog temperature output
*3: AC60Hz,1minute.Corresponds to isolation voltage 2500Vrms in the case the convex-shaped heat sink

*4: High melting point solder (Lead Over 85%) is used for chip soldering of PSSxxS51F6 only.

*5: Pin plating and Chip soldering : Lead-free solder
*6: High melting point solder (Lead Over 85%) is used for chip soldering only and Pin plating is Lead-free.
*7: Molding resin insulation for PSSxxS51F6/-C

SN
HE R R
M EIEE
Bl

ESES

® [} EH B
® HEHIA
o FE A
® DIPIPM



DIPIPM™ = GBS

DIPIPM™#95M 2 E

Unit:mm

Super Mini DIPIPM Ver.6

Industrial DIPIPM (PSSxxS71F6)

600V Large DIPIPM

MOSFET Super Mini DIPIPM Mini DIPIPM Ver.4 1200V Large DIPIPM
Super Mini DIPIPM Ver.5 MOSFET Mini DIPIPM
Long (A) 38.05 DIPPFC Qii'ﬁ‘éﬁ‘éi
20x1.778(=35.56) 1200V Mini DIPIPM s s 5 8 .8 (2.54x10)
0.28 35:03 RETE . . 2.04:03
1.778:0.2 T 16-0.5 . &JE id HH il N il blAdAhAA A :
USRI EINEENE G 60 CO G CD 61 o B 25 756 Teo o [ [ N [ (20 2
TlapapadanAaAt ARl Sy | T v urueueury || e %
| '\‘H'H;H'H‘H'H‘H'H\;\l;l [0 o ;r Type narme Lot No v} gé
Type name, Lot No. | g @ OO0 x€ S
]| 2ms N
_ b 8 J@- © O 0 00 ¢y N D i
2 T @ N 40 34)
of o ype name ‘ T 0 § J 0 g
MY Lot No. @ i i i i ; ;
camiyy 1T - [10:03 | 100 | 10.05] 10:03 ] 10.03 | 1003
0] O
LSV R Z(SLHJL;; T ¥ ¥ U 1:'; T
B 540;]228 | 6.6:03 ] 7.62:031 7.62:03 1_7.62103 L?.GZ:US |
= 14%2.54(=35.56) 3300 Ja3i0s s 3.95.0 2o
525 ]
AT n o
2 H “H‘MW“ ’Ha 5;
M—&—&—&—&—L} ~
HEAT SINK SIDE /

Industrial DIPIPM(PSSxxS51F6)

46.228 (26x1.778)

37 36 35 34 i3 32 3

15.25

1] =1 = =1 =1

6.7 +0.317.62+03 | 7.62+03 1 7.62:0.3
2.54:03 5.76:03
954208

Industrial DIPIPM(PSSxxS51F6-C)
Zigzag(C)

46.228 (26x1.778) |

>
o
8
2
=] i
67:03 | 7.62:03 | 762103 | 7.62:03 2|
25450 576103 °
51103 @)
402015
29




MOSFETHRRPEZE

MOSFETE&F&@]% RoHS Directive Compliant
Vbss
b (A) 75V Connection 100V Connection 150V Connection
100 FM200TU-07A T FM200TU-2A T FM200TU-3A T
200 FM400TU-07A T FM400TU-2A T FM400TU-3A T
300 FM600TU-07A T FM600TU-2A T FM600TU-3A T
T
Connection
MOSFETHEHREISME B

Unit:mm

FM200TU-07A, -2A, -3A
FM400TU-07A, -2A, -3A
FM600TU-07A, -2A, -3A

6.5 97
83 8.8

12 ,12.9
165,16 32 16

Q0

Jar "

20

90

80
38

67

1]
1]
“T0

35
26
25




IPME= &S

IPMFE G FIZR 600V (NossiiEusms, EH9m Linsk)

Vees (V) 600V
Series | L1 Series S1 Series V1 Series Photovoltaic L Series S-DASH_Series
lc (A) Connection |No.| ‘ Connection [No, Connection |No,| Connection |No ‘ Connection |No. ‘ Connection
PM50B4LA060 B4|01
PM50B5LA060 B5|01
PM50CL1A060 |C |01 PM50B6LA060 B6|01| PM50CLA060 |C PM50CSD060 |C
PM50CL1B060 |C |02 PM50B4LB060 B4|02| PM50CLB060 |C PM50CSEO60 |C
50 PM50RL1A060 |R|01|PM50CS1D060 05 PM50B5LB060 B5|02| PM50RLA060 |R PM50RSD060 |R
PM50RL1B060 |R |02 PM50B6LB060 B6|02| PM50RLB060 |R PM50RSEO060 |R
PM50RL1C060 |R |03 PM50B4L1C060 |B4|03
PM50B5L1C060 |B5|03
PM50B6L1C060 |B6|03
PM75B4LA060 B4|01
PM75B5LA060 B5|01
PM75CL1A060 |C |01 PM75B6LA060 B6/01 PM75CLA06B0 |C PM75CSD060 |C
PM75CL1B060 |C |02 PM75B4LBO60 B4|02 PM75CLB060 |C PM75CSE060 |C
& PM75RL1A060 |R |01 PM75CS1D060 05 PM75B5LB060 BS|02 PM75RLA060 |R PM75RSD060 |R
PM75RL1B060 |R |02 PM75B6LBO60 B6|02 PM75RLB060 |R PM75RSE060 |R
PM75B4L1C060 |B4|03
PM75B5L1C060 |B5|03
PM75B6L1C060 |B6|03
PM100CL1A060 | C |01 PM100CSD060 | C
100 PM100CL1B060 | C |02 PM100GS1D060 | G 05 PM100CLA060 |C PM100CSE060 | C
PM100RL1A060 |R |01 PM100RLAO6O |R PM100RSD060 | R
PM100RL1B060 |R |02 PM100RSE060 | R
PM150CL1A060 | C |01 PM150CSD060 | C
150 PM150CL1B060 | C |02 PM150CS1D060 | C 05 PM150CLA060 |C PM150CSE060 | C
PM150RL1A060 |R |01 PM150RLA060 | R PM150RSD060 | R
PM150RL1B060 |R |02 PM150RSE060 |R
PM200CSD060 | C
200 PM200CL1A060 | C |04 PM200GS1D060 | G |05 PM200CLA060 |C PM200CSE060 | C
PM200RL1A060 |R |04 PM200RLA060 | R PM200RSD060 | R
PM200RSEO060 |R
PM300CSDO060 | C
300 PM300CL1A060 |C |04 PM300CLA060 |C PM300CSE060 | C
PM300RL1A060 |R |04 PM300RLAO6GO | R PM300RSD060 | R
PM300RSEO060 |R
400/450 PM400DV1A060 D |06 PM450CLA060 | C |08
600 PM600DV1A060 D |06 PM600CLA060 | C |08
800 PM800DV1B060 D |07
IGBT . .CS'I'_BT*1 ) .CS'I'.BT*1 . CSTlBT*1 . CS'I"BT*1 . lCSTlBT*Z Planar
Chip Eu!lt-m Emitter Sensor Eu!lt-ln Emitter Sensor Bu!lt-ln Emitter Sensor .BU{H-In Emitter Sensor E?uﬂt-m Emitter Sensor Built-in Emitter Sensor
Built-in Temperature Sensor | Built-in Temperature Sensor | Built-in Temperature Sensor | Built-in Temperature Sensor | Built-in Temperature Sensor
w P-side/N-side N-side P-side/N-side P-side/N-side P-side/N-side N-side*3
Fault |OT P-side/N-side N-side P-side/N-side P-side/N-side P-side/N-side N-side
Output|sc P-side/N-side N-side P-side/N-side P-side/N-side P-side/N-side N-side*3
0C - - - - - N-side*3
gi??cstive Compliant Compliant Compliant Compliant Compliant Compliant
Compatibility L Series S-DASH SERVO V Series - - -
D B4 B5 B6 (¢} R
o] o o o o o o o o ol
Connection
| o o ol o] OJ% a(gﬂ DJ% o o ol ugju o
[Term]  UV: Supply Under Voltage-lock protection, SC: Short-Circuit Protection, OT: Over-temperature protection, : EREBEXEHSA.
OC: Over-current protection, CSTBT™: Carrier Stored Trench-Gate Bipolar Transistor. *: HES
RoHS: Restriction of hazardous substances in electrical and electronic equipment
[Notes] *1: Full-gate CSTBT™ *2: PCM (Plugged Cell Merged) CSTBT™ *3: CSD/RSD have P-side
IPM& & T & IPMZ35
PM 100 R L1 A 120 [ szm o SOOM e[ mm e[ Lz |
T emEx4 -
% S-DASH
RoIER SERVO
o R o > s1EI ]
® FERIR -
® |IPM

viEA ]

>

£ FIPM

AFHBER R




IPM7 R 53R 1200V (No s ERSS, E5E9RT Lins)

Vees (V) 1200V
Series | L1 Series S1 Series V1 Series | L Series S-DASH Series
Ic (A) ‘ Connection |No, ‘ Connection [No.| Connection |No. ‘ Connection [No.| Connection
PM25CL1A120 1
PM25CL1B120 g 82 PM25CLA120 c
25 PM25RL1A120 R 01| PM25CS1D120 C |05 PM25CLB120 ©
PM25RL1B120 R |02 PM25RLA120 R
PM25RLB120 R
PM25RL1C120 R |03
PM50CL1A120 C |01 PM50CLA120 C PM50CSD120 (¢}
PM50CL1B120 C |02 PM50CLB120 (¢} PM50CSE120 (¢}
50 PM50CS1D120 C |05
PM50RL1A120 R |01 PM50RLA120 R PM50RSD120 R
PM50RL1B120 R |02 PM50RLB120 R PM50RSE120 R
PM75CL1A120 C |01 PM75CLA120 C PM75CSD120 C
75 PM75CL1B120 C |02 PM75CS1D120 clos PM75CLB120 (¢} PM75CSE120 (¢}
PM75RL1A120 R |01 PM75RLA120 R PM75RSD120 R
PM75RL1B120 R |02 PM75RLB120 R PM75RSE120 R
PM100CSD120 | C
PM100CL1A120 C |04 PM100CLA120 C PM100CSE120 | C
100 PM100CS1D120 C |05
PM100RL1A120 R |04 PM100RLA120 R PM100RSD120 | R
PM100RSE120 | R
PM150CSD120 |C
150 PM150CL1A120 C |04 PM150CLA120 (¢} PM150CSE120 | C
PM150RL1A120 R |04 PM150RLA120 R PM150RSD120 | R
PM150RSE120 | R
200 PM200DV1A120 D |06 PM200CLA120 C |08
300 PM300DV1A120 D |06 PM300CLA120 C |08
450 PM450DV1A120 D |06 PM450CLA120 C |08
IGBT CSTBTH! CSTBT*! CSTBTH! CSTBT*2 Planar
Chi Built-in Current Sensor Built-in Current Sensor Built-in Current Sensor Built-in Current Sensor Built-in Current Sensor
P Built-in Temperature Sensor | Built-in Temperature Sensor Built-in Temperature Sensor Built-in Temperature Sensor
w P-side/N-side N-side P-side/N-side P-side/N-side N-side*3
Fault |OT P-side/N-side N-side P-side/N-side P-side/N-side N-side
Output| s¢ P-side/N-side N-side P-side/N-side P-side/N-side N-side*3
0C - - - - N-side*3
RoHS Compliant Compliant Compliant Compliant Compliant
Directive p P P P P
Compatibility L Series S-DASH SERVO V Series - -
D C
o
Connection
o
[Term]  UV: Supply Under Voltage-lock protection, SC: Short-Circuit Protection, OT: Over-temperature protection, PEFEER | EREBATETR.
OC: Over-current protection, CSTBT™: Carrier Stored Trench-Gate Bipolar Transistor.
RoHS: Restriction of hazardous substances in electrical and electronic equipment
[Notes] *1: Full-gate CSTBT™ *2: PCM (Plugged Cell Merged) CSTBT™ *3: CSD/RSD have P-side
PM100RL1A060 P &R EE B&
Wp  Vwp1 Ve Vvp1 Up Vup1
Br Fo Vnc WN VN1 VN Un Vwec  WFo Vvre  VFo Vurc  UFo
O Q-0 O o O O Q- QO oo 1O O O O OO0 Q-
1.5k
1.5k 1.5k 1.5k
H IH I Is | | |
[ 1 |
Gnd In Fo Vcc Gnd In Fo Vcc Gnd In Fo Vcc Gnd In Fo Vcc Gnd In Fo Vcc Gnd In Fo Vcc Gnd In Fo Vcc
Gnd Si Out OT Gnd Si Out OT Gnd Si Out OT Gnd Si Out OT Gnd Si Out OT Gnd Si Out OT Gnd Si Out OT
e L IR S
L g
A J A A A L """
B N w \ U P




IPMZRZIIEE

IPMEJSM B

Unit: mm
01 02 03
PM50, 75, 100, 150CL1A/RL1A060 PM50, 75, 100, 150CL1B/RL1B060 PM50RL1C060
PM25, 50, 75CL1A/RL1A120 PM25, 50, 75CL1B/RL1B120 PM25RL1C120
PM50, 75B4/B5/B6LA060 PM50, 75B4/B5/B6LB060 PM50, 75, B4/B5/B6L1C060
11 120 120 90
7 106 7 106:0.25 50
325 19.75, 665
s 19.75]]_16_,_16_,_16_15.25 2-05.5 3.25 312 3‘2 313 16525 ;}f’jﬁime 5| 10_222 10 _222 10_222 10 222222
: 32 |32 |32 62 NOUNTING 1132, 132 132 Le-2 HOLES [ T
(= S T€ee» 5Ge9 0€sso [36zssesy
JoHS ST i 2-04.3 i A | \=
~ N | 7 =y o q mgtJENSTING ;\“ “/_ &
N —\y/ @rMFmﬁ-Em%@ \dl “ E f}) 6"1 - lms ’”|I|||]9 “l""l‘s 9 f}— g 3 E}/ @
= IC\ Il & » [ '] 9
©° = | & &
I = W B ] 4
30.75 23 23 23"~ 2.5 ‘1;’2-5 »s - ” o |10 |, 12 | 12 | 12 | 12 | 12
z 7.75 98.25
@
g ,
SR [ 0

04

05

06

32.8
31

34+1/-05

6-02.5 24-110.64

2020 P e
)|
L | O s

36.6

PM200, 300CL1A/RL1A060 PM50, 75, 100, 150, 200CS1D060 PM400, 600DV1A060
PM100, 150CL1A/RL1A120 PM25, 50, 75, 100CS1D120 PM200, 300, 450DV1A120
‘ 135 ‘
6.05 | 110:05 6.05 120 120
6-M5 Nuts 26 .., 26 405 | [11] 7 106:03
195 103 105 b E $ 106:0.25
w] OO —1® | ;'z]f 2379 ‘: ‘mwemme‘o 01,5254 4-R65
7@5 =Y =) l() o r—' T 17 17 T \\lf 1
= ) 2 T+ HH ) -05. = ‘
& gl T m= J_ HOTNG N SMENUTS] ]
o} 2 67.4 HOLES ol 8 SCREWNGDEPTH 95
il ol |88 1) [ser 9 o o Rlgl T R
75 ) =1 o= o [ = N\2:R7 3[ o g — = pv
a2l &2 Iqﬁ';i;?:ﬁ L LES iﬁ " :‘ [;E oo a‘d.\—Jl 21 st | y i . §
| o131 ol |71 _ - ==
S 4 =/ '_i“g NT 15,19 |, 19 |, 19 |, 19 S NUT 4-06.5 25 |, 25 |, 88 || 305
i 19 \13 \ 9 5 1 9 i SCREWING .
™ o DEPTH75 Mounting
4-055 30.15 | {1 9 -
Mounting P
Holes 14 14 14 2-03.5
2-02.5 19-110.5 \ [
S i . L _g‘ i
PM800DV1B060 PM450, 600CLA060
PM200, 300, 450CLA120
120
4-R6.5 106:0.25
|
&Je i nll&) Q
= ! "9,
; [T .
R ‘ N 32| 3254|322| 3954/322| 3054 o
S o oy || BEERNE
8 ¢ wmigs T 3 3+t EERRE
o o ol ® 21, ]| 3254 ‘g‘» | 3254 ] 21, || 3254
] 375 | 5375 ‘ ‘ ‘ 53.75 |
¢ ‘ ) y '
@ @ > (1 © & - ' 1
4065 28 28 31 3.05 © &
MOUNTING HOLES i - 12/l 12l |12l [zl l12l] (112
8055 ] 2 e ) e et
VOUNTING a7l 7] Lzl [zl
HOLES




IGBTIERIRES

IGBTHERGEFHiE
CM2500DY-24S

L e zslam
i EELR

&
EEARX

® HER

IGBTHER 2
F4RIGBT FE5IGBT #£61LIGBT
[ F&%I | NFZ 3 | SE73 |
> NxEa | e[ Nxm
> NFHES | (e[ ANFE ]
> Azs__ |  »[__wPDE ]
[ _MPDZEZI | [ New-MPDE! ]
15{FIGBTIE R R
S&7 NFHZ %I
O R & BTEH S

@FEiTR HENCSTBT™, LM TIKIRE
OHEEEFEHE (F17mm) (NXH!)
@ E&ABEFH (2500A/1200V, 1800A/1700V)

(New-MPD#Y)

MPD: Mega Power Dual (A7 &7 # 7T i RiER)

@iE;I K AHEAMCSTBT™, RI TR
@ xR F K (ZVS)

@B MERTL (Rrxd AR L)

® |GBTH#HR

CSTBT™: Carrier Stored Trench-Gate Bipolar Transistor. i F 77 t#= @M R WR R EE,

600V IGBTIEREE 5 (NobsEImES, E513-16W LiZgk)

AR BEMERIROHSIESL
Vees (V) 600V
Series| 5th-generation ) ) )
Ic (A) NX Series ‘ Connection | No. NP Seits ‘ Connection | No. WA St Connection| No. felies Connection | No.
75 CM75MX-12A M 01 CM75TL-12NF T 08 CM75DU-12F D 14
i CM75RL-12NF R 08 CM75TU-12F T 17
CM100MX-12A M 01 CM100TL-12NF T 08 CM100DU-12F D 14
100 CM100DUS-12F D 14
CM100RX-12A R 02 CM100RL-12NF R 08 CM100TU-12F T 17
weonvime |2 [ S P B
150 CM150RX-12A R 02 50TL- 08 CM150DUS-12F D 14 CM150TU-12F T 18
CM150RL-12NF R 08
CM200DY-12NF D 09 CM200DU-12F D 14
200 CM200RX-12A R 02 CM200TL-12NF T 10 CM200DU-12NFH D 14 CM200TU-12F T 18
CM200RL-12NF R 10
300 CMB300DX-12A D 03 CM300DY-12NF D 09 CM300DU-12NFH D 15 CM300DU-12F D 15
400 CM400DX-12A D 03 CM400DY-12NF D 1 CM400DU-12NFH D 15 CM400DU-12F D 15
600 CM600HX-12A H 04 CM600DY-12NF D 12 CM600DU-12NFH D 16 CM600HU-12F H 20
H M
Connection OJ@
PRFER | EREBEXAHR.

10



IGBTHEIRES

F6{CIGBTIER (SRF) FEEFIFE 1200V/1700V (NobsvkEES, E513-16T Lig)
FERREMERROHSIES

Vees (V) 1200V 1700V
Series| NX Type A/NF Type MPD Type New-MPD Type NX Type MPD Type New-MPD Type
lc ‘Connection No. Connection|No. Connection|No. Connection|No. Connection|No, Connection|No. ‘Connection No.

35 | CM35MXA-24S| M |05

50 | CM50MXA-24S| M |05

CM75MXA-24S | M |05
CM75MXA-34SA | M |31

75 |CM75TX-24S | T |06
CM75RX-34SA | R |27

CM75RX-24S | R |02

CM100MXA-24S| M |05

CM100TX-24S1* | T |33

100 | CM100TX-24S | T |06

CM100RX-2451* | R |34

CM100RX-24S | R |02

CM150DX-24S |D |03

CM150EXS-24S | E |32
04Q1*

CM150TX-24S1* | T |33 CM150DX-348A | D |28

150
CM150TX-24S | T |06 CM150RXL-34SA | R |29

CM150RX-24S1* | R |34

CM150RX-24S |R |02

CM200DX-24S | D |03
CM200DX-34SA | D |28
200 | CM200EXS-24S| E |32
CM200EXS-348A | E 32
CM200RXL-24S| R |29
225 | CM225DX-2481* | D |35
CM300DX-2481* | D |35| CM300DY-24S| D |11
300 | CM300DX-24S | D |03 CM300DX-34SA | D |28
CMB300EXS-24S| E |32
400 CM400C1Y-24S|C1/12
CM450DX-24S1% | D |35
450 CMA450DXL-34SA | D |30
CM450DX-24S | D |03| CM450DY-24S| D |12
CMB00DX-24S1* | D |35| CMB00DY-24S| D |12
600 CM600DXL-34SA | D |30
CMB00DXL-24S| D |07
800 CM800DY-24S| D |13
900 CMS00DUC-24S” | D |24
1000 | CM1000DXL-24S | D |07 CM1000DUC-34SA | D |24
1400 CM1400DUC-24S | D |24
1800 CM1800DY-34S | D |26
2500 CM2500DY-248% | D |26
c
£ ci,, D
2
s ol ol
[&]

Kok FEF e HiER v ULEER (| FEFEER) BREBEXANS.

11



5 IGBTIER PR 513 1200V/1700V (NoshsbhENES, E513-16T LiRs)

AR BEMERIROHSIES

Vces(V) 1200V 1700V
Series ; a q A .
Ic N7 S ‘Connection No. R B ‘Connection No Ridsees ‘Connection No. IF Saites Connection | No. R B Connection | No.
CM50TL-24NF T |08 CM50DU-24F D |14
50
CM50RL-24NF R |08 CM50TU-24F T (17
CM75DU-24F D 14
75 CM75TL-24NF T |08
CM75TU-24F T |18 || CM75DY-34A 09
CM75RL-24NF R | 08
CM75E3U-24F E3| 14
cM1o00DY-24NF | D 109
CM100DU-24F D 14
CM100E3Y-24NF E3 | 09
100 CM100DY-24A D | 09 | CM100DU-24NFH D |14 | CM100TU-24F T |18 || CM100DY-34A 09
CM100TL-24NF T |08
CM100E3U-24F E3| 14
CM100RL-24NF
R |08
CM150DY-24NF D |09
CM150E3L-24NF E3 | 09 CM150DU-24F D |15
150 CM150DY-24A D | 09 | CM150DU-24NFH D (14 CM150DY-34A 1
CM150TL-24NF T 10 CM150E3U-24F E3| 15
CM150RL-24NF
R |10
CM200DY-24NF D |11
CM200DU-24F D [15
200 CM200TL-24NF T |10 | CM200DY-24A D | 09 | CM200DU-24NFH D [15 CM200DY-34A 1
CM200E3U-24F E3| 15
CM200RL-24NF R |10
300 CMB300DY-24A D | 11 | CM300DU-24NFH D | 15| CM300DU-24F D | 19 || CM300DY-34A 12
CM400HA-24A H |21 CM400HU-24F H |20
400 CM400DY-24NF D |12 CM400DU-24NFH D 16 CM400DY-34A 25
CM400DY-24A D |12 CM400DU-24F D |22
500 CM500HA-34A 21
CMB600HA-24A H |21 CMB600HU-24F H |23
600 CM600DU-24NF D |13 CM600DU-24NFH D |16
CM600DY-24A D |12 CM600DU-24F D 13
8 H D
g ol
. .
(@]

12



IGBTHEIRER

IGBT{RREYSMEEE

Unit: mm

o1

CM75, 100MX-12A

20.5)

z

il

CM100, 150, 200RX-12A
CM75, 100, 150RX-24S

62

CMS300, 400DX-12A
CM150, 200, 300, 450DX-24S

(14)

121.7
118.1
110:05
. 99
94.5
©]
O ||lo oY o0 ot Noo =
& ||[C® 9= AOr  S§ OYAro
N 0O oN N ©O rONO
lollrr J© b OF P00
i T o O I
0 53 31
*11.66
o s
3 A
2 X
=l 3452
-38.34£ 61
1 22

50:05

~
[ )

35, .

| TR0z 222 T2 1B 1R 7 1615 14 1 ‘&

7.
62

77.1

14

1384,
(21.14)

135 2071 | 2286 | 2286 2286

6-M5 NUTS

[0 060 (0 8400 A1 (HEN
= S v —
= ==

* All dimensions with a tolerance of

* All dimensions with a tolerance of

. CE
o ] o]l ] s | ==
137
5 3 § 3§ §8 & 121.7
(13.5) 1100
136.9 | 99
1217 1.7 94.5
110.05 4055 [ ates 381 ‘
99 MOUNTING HOLES [ I
945 Fa) =z
‘ ~

542
22

(14),

' @ Mﬁ = "’
"inm T I o
E ) [ ABEL ] |- "’I

381

a7 |

(SCREWING DEPTH)

* All dimensions with a tolerance of

04

4.2

CM600HX-12A CM35, 50, 75, 100MXA-24S
152
137
121.7
[ 121.7 110:05
(1335) 110:05 | 99 |
99 i 94.5 i‘
‘ 94.5 i |50 BneSneSness 2% 3 3
R A R A A B AT
- D)7 46 0 % 5150 4 46 7 2 % 4 4 B 41 4000 9 31 3 % 34 89 % 41 }
g N Z1
Sl bo 4 : :
o o 2| ey ) % %
I 3159 Al g s 7
g -
BRSNS 8 . :
g = i
P
§7

12345878 nn s Tneans

)

.64

)
? o 8z o
™~ o oo v o
| olrr o 2
™) TN TN Fae]|
bt ot il
m i 1 -
|

(SCREWING DEPTH

1743

|l

i

* All dimensions with a tolerance of

15| [1r] [rno] Jusa] | Jineo[ [ Tast

MOUNTING

118.1

osgl ‘

MOUNTING

CM75, 100, 150TX-24S

62
5005

e ‘
‘ =1 (1010 q
ﬁ‘Pi [ rABEL ]

15 | [1143] |11.43] (1143 [11.43] |1143) | 3.81 R
P e o«

381 381 381

381 381

4.06 114.05

07

CM600, 1000DXL-24S

CM75, 100, 150TL/RL-12NF
CM50, 75, 100TL/RL-24NF

11 120

152
4-05.5 187
MOUNTING 1514 121.7
HOLES 1 B 51100 &
L — 5
) 16.9 | [15.24] |15.24 19.05 | [15.24
8 '_A:H'_A:HT_T—A:]
<
o
8
5
2
3
1
o7 o ol
g ! EEE
2
3
36 ‘775‘ 945
1172

)

1
LABEL

(SCREWING DEPTH
113
)
IE:

(

2245
12 ‘
(SCREWING DEPTH)

2-05.5
7 106:05 MOUNTING
‘13452 40.78 17 17 HOLES
) : s
o - )| ®
1z o} £
(19.75) 12 12 12 12
22 23 23 23 T

* All dimensions with a tolerance of

CM150, 200, 300DY-12NF
CM100, 150DY-24NF
CM100, 150, 200DY-24A
CM75, 100DY-34A

CM100E3Y-24NF
CM150E3L-24NF
94
17 23 23 17
e @ N o
F S
:v'_)I & i "@) ®
L1 o
\J ) ~
12| 12| |12 3-M5 NUTS
80:0.25

2-06.5MOUNTING HOLES

TAB#110,

16,7, 16 _,7, 16 t=0.5

21.2 %
:

LABEL

13



Unit: mm

10 CM200TL/RL-12NF 1 CM400DY-12NF 12 CM600DY-12NF CM400C1Y-24S
CM150, 200TL/RL-24NF CM200DY-24NF CM400DY-24NF CM450DY-24S
CMB300DY-24A CM400, 600DY-24A CM600DY-24S
CM300DY-24S CM300DY-34A
CM150, 200DY-34A
135 110
(6.05) 110:05 (6.05) 108 930me
1175, 26 __ 26 17| | ”
05 105 E]T‘:EL 93:025 /—t»s-Ms NUTS S I E W R
s/ G —— o T -
_2 ) ) \J % £ Van Y o Ve 'I.g . [ o [
i b o N %LJ adje] 8|3 OO (1O o
ol fa) - R
=71 8 © ©
- io"’ﬁ 215 | 25 25 24 ~
gt %\ ot =S 2l 4-06.5MOUNTING HOLES S . % | 215
ad=: A © TAB#110, 4-06.5MOUNTING HOLES
4-055 205 | 25 | 25 g3 \.6-M5NUTS 18_,7,.18 7, 18 t=0.5 TAB#110
Hotes "¢ | 463 L e T‘_’H‘_’H‘_“\ =05
& [ ! ! ! 3 ol
B EE g 3 .
f— 2 —-_— ~
! a1
13 CM600DU-24NF/24F 14 CM100, 150DUS-12F 15 CM300, 400DU-12NFH/12F
CM800DY-24S CM200DU-12NFH CM200, 300DU-24NFH
o CM75, 100, 150, 200DU-12F CM150, 200DU-24F
130 CM100, 150DU-24NFH CM150, 200E3U-24F
110:025 10 CM50, 75, 100DU-24F
s 458 18801 CM75, 100E3U-24F
' ] o
{—yj P & = 108 Tc measured point
e 5 § o 7.5 93:025 7.5
m}::@ © 7 80:0.25 FA I
= 17 23 23
b 2 P 2| B4 e}
Ay o -6 o élg SRE! ! of 8y
‘\‘L l_] J \ ] A\ S|P S |J '2_|-:\/Iount|ng RE
1 H | - 1 — = oles ~ T3 CInd
5 3 gg r_ﬂ (el e E‘f ©| (65Dia) 3 gglg% =S - @ . @ P
3-M8 NUTS 4-M4 NUTS 2 ILI |J Ll o Sz Y ~
8 g - (;/ l L "ﬁ 25 25 | 21525
15 3-M6 NUTS
J 12| |135
2% @%};7 3-M5 Nuts 2 L_,‘ 4-06.5 MOUNTING HOLES
> _\ = 7065 (— 25 25 25
MOUNTING HOLES LABEL 16 25 16 EOE%”O'
( Lf Lf | 7‘ ‘ o
2 :ﬁ § o~ " 53
T I Ag 8 LhsE .—% & R
1 —
16 CM600DU-12NFH 17 CM75, 100TU-12F 18 CM150, 200TU-12F
CM400, 600DU-24NFH CM50TU-24F CM75, 100TU-24F
102 107
901025
110 ’?ZS: Dia-55 gaM%ﬁnt\ng
©5) 93.025 ®5) 10~ fepmt10 /(f‘Moum,ng 12+ \ (12 Holes)
A1,19.1011,19.11 11118 Holes) ”\ 2 2“7 g
oJ® = Sy e i [ B S
J O] [ElE e of TEIET =
<L g 4+ A e G (R A
a %t @ [l _<; @ = 2 T8 é
8 84 ?\A d QI" . ™+ T‘V’* e
1 - %2 @ 18 3 o
4-06.5 MOUTING ANEA ‘J I@“e) O B . | I@l I@! Q—J o5 : &
HOLES L—»25 L—» . L&“F&“ +3.05 5-M5 NUTS 11“21.7‘11 217 11F '
3-M8 NUTS 57M4NUTSJ11‘191 \11\191 1 ‘ N
TaB#110, TAB#110
18_.7,.18_7,.18 _, TAB#110. t=0.5 =05 /t=0.5
o T T T A = < il [ I
3 o < l_ g




IGBTHEIRES

|GBT1’§1*E"]9|"T2 Unit: mm
19 CMB300DU-24F CM600HU-12F CM400, 600HA-24A
CM400HU-24F CM500HA-34A
110 107 24 20 29 1175 |,
93:0.25 79— .D\a»s s
W—@k@ " 135, 26 29 (E?M?ﬁnﬁng . | {/(4TYP')
L oles)
) s ) ) Al J( ) & i
- et g = D) ] ST o
© gj — - o ol fi* row mmt I—(;I Ot ? 2
g] J*;: {} @ T Tl ¢ 8' i DL_J I_, — 1T
v aE =) ° 5
4-06.5 L = — :]C:] @
MOUTING 25 |, 25 25 \ 16
HOLES 93:025 21.5 2-M4 NUTS 2-M8 NUTS 93:025 -
3-M6 NUTS 108
M6-THD.
M4 -THD. (2 TYR)
: ! @TYP) ’c‘é&%“;
o e T 3 ‘
39 I h b LABEL <
> & LABEL 3 o 3
: el LI ) Jlia= 7
22
CM400DU-24F CM600HU-24F CM900, 1400DUC-24S
CM1000DUC-34SA
140
130
110:0.25 10
36 43.8 13.8/11.5 110 13;%3)25
e = 931025 2-M8NUTS 42
{_ﬂj P IO : 185 245 29 / ‘Hl‘l‘ 12, .2
- x I
] 5 6 & oN—H1
cvt . L] | o '—Le l E) I -t
26 26 26 b S |‘_§3—'l - 2 2 g
N o 9 I | 515 |8 ‘B g g
f 1[4 ® g o @ © O : ~
gi g} {} 11 {} 15 gég 8 5‘ _| L . o E]’éi”g@
© @E o ® e o5
- 3-M8 NUTS 4-M4 NUTS ¢ —n‘“ ™ - g g
¢ 3 | 2, . St &
> 0 ollifle 0 oI/ +—+
@ @ (—Q - 1] N
- 4-06.5 9-M6 NUTS 12 14[14 14!14 14|14 2
MOUNTING HOLES LABEL | N 42 [ |42
— e = s g
' ' . = T T =8
/?3 o = ‘ ‘ 3 ‘ ‘ /‘—wf‘\r—‘\ ‘ %”’.I
@) & & LABEL 3 w i s
T T o & —
f
25
CM400DY-34A CM1800DY-34S CM75RX-34SA
CM2500DY-24S
130 10 310
10 110:02 10 20)
4065 36 438 _13.8119
=
o) o = = J
| j l Ll Ll Ll N I J
(St J S %2 g be ds BN @h 8
o llle ]Il e] | €ss2 :
= —— |7 d 136.9
[O)folny e T 4455
> 0¢% G560) 75 945 | ‘ MOUNTING HOLES
B &l ® =B 0
e Al 2o
25.9) | |(15) MER] ;p, 8|
I o o 1 N " B
| | | j:"?’ ’5 |135]_20.71 | 2286 2286 | 2286 \6-M5NUTS
vl «
&




Unit:mm

28

CM150DX-34SA
CM200DX-34SA
CMB300DX-34SA

29

CM200RXL-24S
CM150RXL-34SA

30

CM450DXL-34SA
CM600DXL-34SA

bl LABEL

EE
152
137 Y ; .
1514) 1217 o g8 92 8% 2% 83 3@ 3 1217
135 110 { dd 343z &
b 5as =38 ¥ N3 O§R 98 3ge 2 113650 T05.9:05
- N QA e Qg ©ON O =3 I 110£05
37.72403 - N oy bb T~ 0% - 4102 39 3.4
4-M6 NUTS 33.91203 121.7 ; 972 24‘12 ﬂ 4-¢55
4:05.5 MOUNTING HOLES 5.8 T10+05 3 - X
o & iE 945 5 o] e l? WE
[ 11766500 NI 2
M. &) i =
2 o [ |~ w 7)) 105,85+ 0
b 2lo 06852031 i
Blolal TF—s 82y |
IR [y — 3[5[© 967205}
o eHe ;
814620 ||
“I s '@ A L 77662031}
1
of ! NISE N
3 65 | ] i B3 5 o600 =
b [1564 o o= 22 @ 4055 N 1564 I "
3 g3 a5 £33 wooRcroes SIS o5 433611
38 83 g e || : 39552031
a2 S< IS
=} © of e 24.31+¢ 24,3103
EBj 205:03 H 2005203
B [ m— 1351
£ a +4te doe Lo
H o o \ o)a 7 3
& i 1 1 e |, ——"@ Q S e
<Jo™ T bt [1824] 22 | 2753 | 22
i LABEL N o A m 5550 Netisnurs
] - - el Z o5 (scrmma e
é Eil hd e $ 11.8+03] 106.3+03
- 135 2071 | 2286 | 2286 | 2286 Y\ GMsNUTS
[18.06 ] 85.58
31 CM75MXA-34SA 32 CM150EXS-24S 33 CM100TX-24S1
CM200EXS-24S CM150TX-24S1
CMB300EXS-24S
CM200EXS-34SA
121.7 121.7
110505 13094 11005
102.3) (102.3
L7 94.5 185 62 7 945
83 o8 im .17.66 381 19.05 PEPRREE 4455 woumeros
“ 58 B3 S8 Sh3 B3 0 S2% Een
6 e R e el qmm ##w ~|
(575 Oz IS0y i I
A |
o B ©
82 o o
2| gl o
|7 5% @138 58
15231051
: {Q) —
« o] : W T 5 ) 2 m 8% S8 2% 28 886
5 IR © F2 3% 33 33 i iig
© f T A\ 22 Zs RZ 5E 3§ 3%°
4-¢5.5 wwmeraes/ & ° §% S 8% 989 = 8% 53 28 B @&
=88 g8 R N 4-M5 NUT
~o 88 By 888 R
73.71 4-05.5 MOUNTING HOLES
11.8502 1063202 11.8202 106.3102
w) 08! X

LABEL

34

CM100RX-2481
CM150RX-24S1

LABEL

0 —

\ || || || || I |
fogy Sy 53 53 g% ss@ g
S 3 %2 3 g2 48 8@ o
~EoaN By 88 °N @k 2
136.9
121.7
11005 4-
15.64) [1.75 94.15 /" MOUNTING HOLES
T 1
\&J
2|
Y
3|5
o) ~
- Py
| (<3 (=3 ©
13.5] 20.71‘ 2286‘ 22.86‘ 22.86 ‘ 6-M5 NUTS

35

CM225DX-24S1
CM300DX-24S1
CM450DX-24S1
CM600DX-24S1

57.95+03

LABEL

1785

152
137
(15.14) 121.7
—
13.5) 11005
LT 945
37.72+03
4 33.91+03
AN
Bk
8
+
—w
pes ERE 1 -
g% a8 ge
5 o0 o= 4-¢5.5
4 2 8
:_, o ~ MOUNTING HOLES
= @ b
a
3
1 44 T m 8

16



HVIERPES

17

HVIGBT/HVIPMEEIRFE R TR (No ASMEENES, EH16~17RLiZH)

Vees| 1700V 2500V 3300V 4500V 6500V
Ic(A) Connection Typem Connection Typem Connection | Type [No. Connection Typem Connection | Type [No.
200 CM200HG-130H H| HG |07
CM400HG-130H H| HG |12
CM400HG-66H H| HG |07
400 CM400DY-50H D|HA |15 CM400HB-90H H| HB |03| CM400E2G-130H |E2| HG |09
CM400DY-66H D| HA |15
CM400E4G-130H |E4| HG |09
CM600DY-34H D| HA |01 CM600HG-90H H| HG |12
600 CM600HG-130H H| HG |09
CMB00E2Y-34H |E2| HA |01 CM600HB-90H H| HB |03
750 CM750HG-130R* | H| HG |11
CM800HC-66H H| HC |03
CMB800DZB-34N | D| NB |01 CMB800E4C-66H E4| HC |06
CM800HB-50H H| HB |03 CMB800HC-90R* |H| R |08
800 | CM800DZ-34H D| HC |01 CMB800E6C-66H E2| HC |06
CMB800HA-50H H|HA |- CMB800HG-90R* | H| RG |13
CMB800HA-34H H|HA |- CMB800HB-66H H| HB |03
CM800HA-66H H|HA | -
CM900HG-90H H| HG |09
900 CM900HC-90H H| HC |06
CM900HB-90H H| HB |06
1000 CM1000HC-66R* H| R |08
CM1000E4C-66R* |E4| R |10
CM1200HCB-34N | H | NB |03 CM1200HG-66H ul G los
CM1200DB-34N |D| N |04 )
oM120006-34N 10| N |os CM1200HC-50H | H | HC |06| CM1200HC-66H H| HC 06| CM1200HC-90R* |H| R |10
1200 | o orac-aan g4l N |os CM1200HB-50H |H | HB [06] CM1200HB-66H H| HB 06| CM1200HC-90RA |H| R |10
i CM1200HA-50H |H | HA | - s - | CM1200HG-90R* |H| RG |11
CM1200HC-34H | H| HC |02 CM1200HA-66H H|HA
CM1200DC-34S* [D| S |04 PM1200HCE330-1 |H| HC |14
CM1500HC-66R H| R |10
1500
CM1500HG-66R* |H| RG |11
1600 | CM1600HC-34H | H | HC |02
CM1800HCB-34N | H | NB |06
1800 | CM1800HC-34N |H| N |05
CM1800HC-34H |H | HC |06
CM2400HCB-34N | H | NB |06
2400 | CM2400HC-34N |H| N |05
CM2400HC-34H | H | HC |06
c
kel H E2/E6 E4 D
TR B B
GCD ol
g ; R
(@]
[Type Description] (H Series: standard) HA: Cu Base plate, HB: Cu Base plate, HC: AISiC Base plate, HG*: AISiC Base plate PEEFTR | BREBEEENS.
(N Series: CSTBT™) N: AISiC Base plate (CM1200DB-34N: Cu Base plate), NB: AISiC Base plate (Outline of H Series) Yok FFER * HER
(R Series: Low Loss) R: AISiC Base plate, RG*: AISiC Base plate
(S Series: CSTBT™ (1)) S: AISiC Base plate
*: High-Insulation Package (10.2kV, AC 1min.)
HVDIODEEIR = RFIFK (NomsEMES, EH18TLIZE) IGBTIRR & BZFH L

Verm | 1700V 3300V 4500V 6500V
IF (A) ‘Connection Type |No,| ‘Connection Type |No.| ‘Connection Type|No,| ‘Conneotion Type|No.
200 RM200DG-130S D| SG |18
250 RM250DG-130F* | D | FG |18
300 RM300DG-90S |D | SG |18
400 AM400DG-66S D sG 118 RM400DG-90F* | D | FG |18
RM400DY-66S D|SD |19
600 RM600DY-66S D| SD |19| RMB6OOHE-90S | H | SH |17 | RM600DG-130S D| SG |18
800 RM800DG-90F* | D | FG |18
900 RM900HC-90S |H| SH |21
RM900DB-90S |D| SD |21
1000 RM1000DC-66F* |D | F |20
RM1200DG-66S | D | SG |18
1200 |RM1200DB-34S |D | SD |16| RM1200HE-66S | H | SH |17| RM1200DG-90F* | D | FG |18
RM1200DB-66S | D | SD |21
1500 RM1500DC-66F* |D| F |20
1800 |RM1800HE-34S |H | SH |17
s H D
[$]
1
o

[Type Description] (F Series: Low Loss) F: AISiC Base plate, FG*: AISiC Base plate

(S Series: standard) SH: AISiC Base plate, SD: Cu Base plate, SG*: AISiC Base plate
*: High-Insulation Package (10.2kV, AC 1min.)

Jok: FFRF Kk HEm

CM 1200 HC -66 H

i

|

RYIER
RIEER
)
IEE
°
EEARN

[

TERR

CM: IGBT, RM: DIODE, PM: HVIPM



HVIGBT/HVIPMiE R B 5b 5 B Unit: mm

01 CM600DY-34H 02 CM1200, 1600HC-34H 03 CM1200HCB-34N
CMG600E2Y-34H CMB800HB-50H, -66H
CM800DZ-34H CMB800HC-66H
CM800DZB-34N CM400, 600HB-90H

130 130
114 . 114
| S7wozs | 57:02 | 4-M8 NUTS 57:00s . B7s0m 4-M8 NUTS 130
> gyE@J:}@ R 4:M5 NUTS
(D _ B G| [—|
oo =ty
I 7 . Tol—Lo &
Imma—anr-—=iLF k- my
Gk 2
®& )12
: N 5 e
3-M4 NUTS ‘165<i5>185 6-07MOUNTING HOLES 3-M4 NUTS € 550 J
LABEL 158 10.65 _?_7 - o 56'12!7MOUNT|NG HOLES

|

1(;,5 | i — <212 [ABEL
=TT T

""m m*"’

t t

CM1200DB/DC-34N 05 CM1200E4C-34N CM1800, 2400HCB-34N
CM1200DC-34S CM1800, 2400HC-34N CM1800, 2400HC-34H
CM1200HB/HC-50H, -66H
CMB800E4C/E6C-66H
CM900HB/HC-90H

130:0.5
4-M8 NUTS 130105 4-M8 NUTS
E.ﬂ*ﬂ.\ |o_Bl:025 . 5702
(c 2 172N t ; 190
. _ 171
y | NS _ y @ 57:025 . b57s025 . b7z025 6-M8 NUTS
S |
| ‘ S —( - —.
o §
@ g g -Q (& Tl El
1 3 I8l 3 <
| = 4 [ [9 [T,
s\ 1 @ B HEe—3-c3}+% g g
@ e 1576} 18}
@ : : 7 2% CJ )
6-M4 NUTS 16202 | [18:00 6-07 MOUNTING M4 NUTS 10.35.02 | 6-07 MOUNTING — )
40:02 44402 HOLES 3- 10.65:02 PoLES N o j@ '
53:02 57102 SCREWING 48.8:02 SCREWING 2025 8-07MOUNTING
T 11.85:00 | MIN. 165 DT, 1802 77— MIN.165 e LABEL
T T
. o 5% b = . [————— 4
N T Y < \ T s -
T T T ; (R T T T
T ¥ ' t
CM400HG-66H CMB800HC-90R CM1200HG-66H
CM200HG-130H CM1000HC-66R CM900HG-90H
CM400E2G/E4G-130H
CM600HG-130H
7305 M8 NUTS 130:0.5
‘4Lf25,‘ = | 57:025 , , 57:025 | | 48 nuTS
@ A — - 190:05
! 7@ @ 59 . 57s025 _,  57s025 _, 57025 _, 6-M8 NUTS
L2087 /]l & [ i | D !
| IS w & O @ .
3 ) ! & w ki
AT ol o O ~
o & = g g 2
2 ] =
3 333 = gl I
~ Q) 3 - - ~ - g 33
= o) [0 E
— g
o o
N 7 ® 3 607 E@ L%
5% — 3-M4 NUTS 10.65:05 10.35.03 MOUNTING
21.6:08 "+ |, [12.9.00 _4-07 MOUNTING 488000 HOLES 3-M4NUTs 1408, |, 592:05 8-07MOUNTING
" HOLES =
HOLES
SCREWING
SCREWING 16.2:03 SCREWING SCREWING SCREWING 61.2:05 _,, 61.2:05 DEPTH
DEPTH =2 o SCREWING DEPTH DEPTH . 615:08 _ DEPTH MIN. 16.5
MIN. 4 0 == MIN. 16.5 MIN. 7.7 18:03 | \ MIN. 16.5
i T I P U - ;
! = o .y = T ™
o g ‘o oY Jr+ —_ o B
© % g] I i | 3 Q
v @ ,,_1 I_,_I




HVIERPEES

HVIGBT/HVIPM{EREI SN E Unit: mm

10 CM1000E4C-66R 11 CM1500HG-66R 12 CM600HG-90H

CM1500HC-66R CM1200HG-90R CM400HG-130H
CM1200HC-90R CM750HG-130R
CM1200HC-90RA

130:05

57:0.25 57:0.25 4-M8 NUTS
19005 s0s A ——
STaom __ Stes __ STam | EMENUTS T wes B cunrs

\
—o
@

124:0.25
14005

8
3
9
1
@)

o g
<l o 3
g g Y — S
< o
S ~ F{EI
O |5 Foug Ot ElE

:% ! 807 | ||| e B@ ¢ [E@ ’

® A\ &) MOUNTING ) =
3-M4 NUTS ‘ | 20.25:03 HOLES H
anes [ || D) e @ . [ECE 425005 | 307 4-07 MOUNTING
19405 | | g o) ? = S HOLES
£0.3 -
SCREWING TS 14203 — 59.20.3 0TMOUNTING HOLES
%(I:;E%\_/'VING E1.5:05 61502 DEPTH SCREWING DEPTH 6123 = 61203 S meoeH SCREWING SCREWING
pEPTH. MIN. 16.5 et - e A BERTY 61.2:05 DEPTH
9 | O —— . [ I~ i ML 11 ¥ MIN. 7.7 (16.5:08 MIN. 16.5
]“’l T T 1 1% [ = =
. WEE———
f P — J— H
¥
CMB800HG-90R PM1200HCES330-1 CM400DY-50H/66H
130405
574025 5740.5 4MENUTS 130

D

[ /
'i Ey @ 6-M8NUTS 57+025 57+025 4-M 8 NUTS
&t .5:0.3‘3 61.5:00 ) 'Screwing depth16.5mm
‘ (Electrode thickness 1.0mm) Eg :] Eg:} LC

- HA _ g & | &
Co)[[[CEEE :
T = — e e e e L P
-Lol]|[[er— |4l el &= ﬁ

8-06.5 MOUNTING
HOLES

]
2l = a_@ L @G-

s oyl 28503 607 NOUNTING HOLES 57:03

6-¢ 6 MOUNTING HOLES

50.240.3 190:0.3
scremaoeFT: ﬁ" Wiigs | | | — SCREWING
o ; — Pty s S BeRT N 615 T
| L ;ﬁJ N % [ F-
mincmann n R ’
1y = == = - 2s . f e
— 5

19



Unit: mm

16 RM1200DB-34S

180-05 4-M8 NUTS

17

RM1800HE-34S
RM1200HE-66S
RMG600HE-90S

18

RM400, 1200DG-66S
RM300DG-90S
RM400, 800, 1200DG-90F
RM200, 600DG-130S
RM250DG-130F

572025 575025 4-M8 NUTS 130:05
‘ ‘ ‘ 57:0.25 57:0.25 4-M8 NUTS
g © — o f
; 1 o
| % ‘ :
I =
4 5] @]
i — gl 32 0 3 la Fr— g <
i L | B
T Q)
&L @ (@ % ) :
6-07 MOUNTING HOLES 61.2:05 6-07 MOUNTING HOLES
- 16.5:03 x> +220-
11.85:02 <L2’“>‘ SCREWING DEPTH 4-06.5 MOUNTING HOLES | ;(I:’\Fﬁvglgle DEPTH
MIN. 16.5 o o [ |1 RS S
| T o ~ |5 3o T o %o
T 4% ® 4
[t} @ r
RM400, 600DY-66S RM1000, 1500DC-66F RM1200DB-66S
RM900DB/HC-90S
130
114 57 o 57. 4-M8 NUTS 190 B NUTS
57:02 572025 4-M8 NUTS | 02— 025 p0T:025 . 57:025
] 5 O N ,
[ —|— Y 3 ‘
]
( T 1lls ! C J1C J/]¢
o o] | Jq L2 ¥ Tor -
< | 5|
[ ] [ ] EF g N & ° g 1= 3 < g 3
el B [e); D on Ny L
| [ \
Ule e (el )
Jg ] AL @ 2°
: ( ]E% _ 18.053 4} 6-07 MOUNTING HOLES _
6-07 MOUNTING HOLES 61.5:03 615 6-07 MOUNTING HOLES
SCREWING DEPTH 18, ‘ SCREWING DEPTH

LABEL

LIT L1

5:02

38"

et

MIN. 16.5

MIN. 16.5

+1

38-0

20



AERTEER

q%l\\\
B
O I T RKM N EBHF S IR EETF® @ SHEAESRAT R B M 5 £ = 1R R IE MBI
@ BT EM T A LR E L RER, STVERRE B AR O & HIAIME S T MR “BR BELV (End-of-Life-Vehicle) ¥5<" B9

1255

J1£7(65 133K, MiPin-fin)
O6E 1 IR TSN F B F LR NEML
O — K300 A E 3K ® 45 4 (Pin-fin), A HH 3 28 /N B L RS 7T F A Sk
O ECSTBTME MK E7HKIGBT, B TR,
O/ - REMEINERREE
% CSTBT: Carrier Stored Trench-Gate Bipolar Transistor

JZ3I IPM
O NS WMFNRE, RIFEE (TARRP. BBRAY. RIREKERP. WEICBTIRS) iz 6 s AR E R (RHFPM800CJIG060G,
PM500CJG120G))

O N EFHTRYRIFZIT RAFI D TR U HIRDYTAE, & iR BRI 1 Thae . DC-Linkes [EAIUMH tHIhAE (T SERHiE )
O N EETHITHELZITHIBA R, B MEAR KR E REESR
Q@ BN ERRIRFEEER, RSRAR

JZ%| T-PM(2&1313%)
@ X AR FMFMDLBIE, EEHEinFEEENRESKERE
@ F| ADLBAIES, Bk AEREILRE F1E 4 e
@ BIEIHFERN, TETHML

*#DLB:Direct Lead Bonding
% T-PM: Tranfer-molded Power Module

BRERDZEEFERETIZER 650V/900V (HiMpEN%S, EHE2T Hias)

Vces(V) 650V 900V
Series J1 Series J Series J1 Series

Ic(A) PM with Pin-Fin Connection| No. T-PM Connection| No. IPM Connection| No. PM with Pin-Fin Connection| No.
300 CT300CJ1A060** C 01 CT300DJGO60** D 02 PM300CJG060G** C 04 - - -
400 - - - - - - - - - CT400CJ1A090** Cc | o1
500 - - - - - - - - -
600 CT600CJ1A060** C 01 CT600DJHO60** D 03 PM600CJGO60G** C 05
800 - - PM800CJGO60G** C 06

c ° D
o ol
Connection ‘EE‘ g%}

% PM : Power Module, %% FF %
52 P T AR ERFE S 5UFE 1200V G0 meneS, EH22m Lizs)

Vees(V) 1200V
Series J1 Series J Series
Ic(A) PM with Pin-Fin Comection| No. T-PM Comection| No. IPM Comection| No.
300 CT300CJ1A120** cC | o CT300DJH120** D |03
400 - - - - -
500 - - - - - - PM500CJG120G** C | 06
600 -
800

c ° D
Connectio ‘ ‘ ‘ g
nn ion
© ESECEE ol

ARERVEERGEHE
PM 500 C JG 120 G

T et
ESR

3 PM : Power Module, %% FF & H

RI|BFRINLEH
o EZEAN

® HIER T

o CT:IGBT.PM:IPM

21



= 27 A
AERWERRBIMEE .
Unit:mm
CT300CJ1A060 CT300DJG060 CT300DJH120
CT300CJ1A120 CT600DJHO60
CT400CJ1A090
CT600CJ1A060
- 9-010.64 36104 36:04
o co e o
wd § o d Qo fé,?wz?w 5 29.25:04 2925304 56 9x00.64
g §oadg og goos 49.5:02 (ST Ok
g . 238+01 |  23.8:01
1243 — 18.5+02 9
2500 ~ l [ressoz
25 b | K T | r T »
09.:
o7 J i : 2 s T i —
s ShE NH o e eL d D=
e i NR e e - B = ’ o
S 2 w 23 5 - — s
il i SEE Vg T ag S
36 o L | Nribie 3[e N 78 gl
8293 | 4795 Qs e e= L b
20 o els 9
el e [ S = [ i i
3 88501
Jored D) e — - 30541 30541 Sx o6
087 f % 84
22 N
S L - N
@ ° B\ forse rapping srew
ot g .
= <t
e 1
HTTY ; U\ = ]
gz T T3
i gl | X 3x03.5 gl 4 ﬂ
e 1 { ! P © o o
@
R
© 2-¢2.5 o
e I [
04 PM300CJG060G 05 PM600CJG060G 06 PM500CJG120G
PM800CJG060G
16!
21+03 29403 21+03 2903 2103 _ (15) 7
g e |
::RG.Sxo:s 9} © lOi]‘w
(MOUNTING HOLES) (MOUNTING HOLES) Lt
I P %
w)
9 3
%
E i .
8| & a[a) J’ bk
JEE 290 B || e 8
A .
bE g
g ] 3
g53 [, W
=
o) B o7 fer
505+025 | 50,5025
51503 (24)
(13.3) La
=5 25)
: i e 5 o
—
BEH 12 (13.5) (13) RE) (13.5) § -
&
lass.| [IREW las l1ag]

22



IR RLR

B Z s 21575 i # 11 89 M 34
www.MitsubishiElectric.com

— &R
HNLB-EBSTREFRARS TSN, BXSENATERERE. ERRESERL. T TMEXLERE, HREFSBASGER. ANSHEHLRE, BERE
It T ZERITTRET. KRBT ARG L EIRB RIS,

— ERARF R
ARRRERFMR=FBHFESHTRE, NEFFEFTHRNAFRMEANSET R, ZZBNNARRFMEROBERBAERBENRTN, REFTTEAT
He g,

MEBARRMCRNREME. B, X, BFREZATHENABRMSEREIREE=NFIN, =Z8NETREEARE.

AEBPIRHNTRLAIE. B, R, BF. EENHMAEESNIFENATIANNES, ZERN TR TEMEMNRERCHN ™ RIIUEFEHERE, WR=F¥ S
FRE, FEES=ZBNIRNEFHRINGTES, HEBEM=ZBH¥ESEERES ML Www.MitsubishiElectric.com) E5EE A HHBRFER.
AERHCHMERLRURE, HREWR. B -EREREHERSHTF SRR, ZZBITRBEAXRE.

AERFTICHE R, IR, FER, FAEAAZERRRNTRENRITNEFNEN. BFFEREFATRATRE, BBE. B, MEFH. KRG, BRPH
WESHMISHG SN, FEZFLNRERBEHTHIA

ERRE. EHARY FEANGI=ZRNNBEITA.

ATARAREATRE, REAMEMER, BES=ZBNRENEFETHRIA

“Eco Changes” ==#HBHIEFANNETS AEFA@EIHA
CO N JEEETTrass FHNTREMRBEATA TN &, BARAAMEEEHS
ghanges H;':—D He EILI I*{% ﬁij’%rﬁﬁé{] " ﬁiik,lﬁﬂi'f%%ﬁﬁw o

=ZEBENHFRINE

BASAR : T100-8310 BAE - RRATREXAZRNZTB7E#3S ARAE

Revised publication, effective Sep. 2014.
Superseding publication of HG-701-B Sep. 2013.
Specifications subject to change without notice.

\ ©2014 Mitsubishi Electric Corporation \

HG-701-C FU-1409 Printed in Japan <IP>





